

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	Wayne Shackleford Blvd-WK	103281	988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimm	52.0000	CYL	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			52.0000	240.00000	12,480.00	
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			52.0000	435.00000	22,620.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			52.0000	600.00000	31,200.00	
1383	1	The Greenery Inc	Janet Noonan				52.0000	692.00000	35,984.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				52.0000	1193.25000	62,049.00	
1812	1	Landscape Solutions of Savanna	Kenneth Powell				52.0000	350.00000	18,200.00	
2090	1	NIXON LAWNCA RE	ANTONIO NIXON				52.0000	285.00000	14,820.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	Tomochici Sq- Wk	103282	988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	1.0000	CYL	CM Contract	Cancelled	
3	Turf Fertilizing (4.13-I)	103283	988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	1.0000	EA	CM Contract	Cancelled	
4	Re-Mulching (4.14-A)	103284	988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	1.0000	EA	CM Contract	Cancelled	
5	Plantings and Annuals	103285	988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	1.0000	EA	CM Contract	Cancelled	
6	RN Entrance & Park-Bi-Wk	103286	988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	1.0000	CYL	CM Contract	Cancelled	
7	R.O.W Maint - Every 6 WK	103287	988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	1.0000	EA	CM Contract	Cancelled	
8	Turf Overseeding (4.13-K)	103288	988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	1.0000	EA	CM Contract	Cancelled	
9	Bryan Square-Wk		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	52.0000	CYL	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			52.0000	40.00000	2,080.00	
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			52.0000	25.00000	1,300.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			52.0000	50.00000	2,600.00	
1383	1	The Greenery Inc	Janet Noonan				52.0000	85.00000	4,420.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				52.0000	210.00000	10,920.00	
1812	1	Landscape Solutions of Savanna	Kenneth Powell				52.0000	25.00000	1,300.00	
2090	1	NIXON LAWNCA RE	ANTONIO NIXON				52.0000	31.00000	1,612.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	Tomochici Square-Wk		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmer	52.0000	CYL	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			52.0000	40.00000	2,080.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			52.0000	20.00000	1,040.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			52.0000	50.00000	2,600.00	
1383	1	The Greenery Inc	Janet Noonan				52.0000	115.00000	5,980.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				52.0000	72.50000	3,770.00	
1812	1	Landscape Solutions of Savanna	Kenneth Powell				52.0000	25.00000	1,300.00	
2090	1	NIXON LAWNCA RE	ANTONIO NIXON				52.0000	30.00000	1,560.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	Reserve Neighborhood Entrance-Wk		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimm	52.0000	CYL	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			52.0000	20.00000	1,040.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			52.0000	45.00000	2,340.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			52.0000	50.00000	2,600.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				52.0000	77.25000	4,017.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	Mary Musgrove Park-Wk		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimm	52.0000	CYL	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			52.0000	60.00000	3,120.00	
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			52.0000	135.00000	7,020.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			52.0000	50.00000	2,600.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				52.0000	201.25000	10,465.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	Wayne Shackleford Blvd-Mulching (6 Months)		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			2.0000	1377.00000	2,754.00	
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			2.0000	1732.50000	3,465.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			2.0000	1500.00000	3,000.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				2.0000	2965.00000	5,930.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	Bryan Square-Mulching (6 Months)		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			2.0000	230.00000	460.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1005	1	Inc Dean Forest Nursery Inc.	Jane Rogers	2255			2.0000	375.00000	750.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			2.0000	250.00000	500.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				2.0000	435.00000	870.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	Tomochici Square-Mulching (6 Months)		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimm	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			2.0000	230.00000	460.00	
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			2.0000	60.00000	120.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			2.0000	250.00000	500.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				2.0000	10.00000	20.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	Reserve Neighborhood Entrance-Mulching (6 Months)		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			2.0000	115.00000	230.00	
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			2.0000	742.50000	1,485.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			2.0000	250.00000	500.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				2.0000	659.00000	1,318.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
17	Mary Musgrove Park-Mulching (6 Months))		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			2.0000	345.00000	690.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1005	1	Inc Dean Forest Nursery Inc.	Jane Rogers	2255			2.0000	2362.50000	4,725.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			2.0000	250.00000	500.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				2.0000	1818.00000	3,636.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
18	Reserve Neighborhood Entrance-Shrubbery Maint		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			2.0000	81.00000	162.00	
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			2.0000	175.00000	350.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			2.0000	250.00000	500.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				2.0000	NO CHARGE		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
19	Mary Musgrove Park-Shrubbery Maint		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			2.0000	81.00000	162.00	
1005	1	Dean Forest Nursery Inc.	Jane Rogers	2255			2.0000	275.00000	550.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			2.0000	250.00000	500.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				2.0000	NO CHARGE		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
20	Wayne Shackelford Blvd-Shrubbery Maint		988-36	Grounds Maintenance: Mowing, Edging, Plant (Not Tree) Trimmi	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
686	1	Tri-Scapes, Inc	Ryan Hogan	5792			2.0000	648.00000	1,296.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1005	1	Inc Dean Forest Nursery Inc.	Jane Rogers	2255			2.0000	565.00000	1,130.00	
1360	1	Chase landscaping, inc.	Michael Chase	1831			2.0000	1000.00000	2,000.00	
1724	1	Sodman Landscaping, Inc	Debbie Rogers				2.0000	NO CHARGE		